RBMX KREXHEZE AL ERRER

(SF7HEIA 1 BHE)

INEFR X
BEX B4 5 B 2 % | (mEa)
T [FEE/ER TEBEN. TABE. TER—TH 8.150] 4,051 4,108 HI3K
2 | FHEBERPER WE—-=TH 4,534 2,325 2,209 13X
3 [MERSUT«+T7EUA— |B/HET, FERBHE (24~#&) 4,991 2, 541 2,450 HE13R
4 |FHEERNER FERZTH. FEER (1~23) 4,117 2,359 2,358 13X
5 | FHEAR/NER FE=~ETH 5,928 3,015 2,913 #13R
6 |FETE FE— - ZTH. FEMHE 6, 401 3,288 3,113 #13R
I ESEGES:S FERFHET, FERIRAET 6,711 3,399 3,312 #H13R
8 |FHNFE®R FEExHE (1~28) . FEHI—~=TH 6, 381 3, 257 3,124 #13R
9 [FHERIER :FEHEEEIBT FEPERT, FE=TH (29~#) . 7,809 3, 896 3,913 #13X
fEdiA— - Z T8
10 [FHERENER :FEXJHHTT :I:E%HTT FEHIRT, FETHT 10, 250 5,255 4,995 13K
M |EREREV S — REKE—., ZTH 4,597 2,262 2,335 #H13R
12 |MB/INER mE—--—TH. ME—~=TH 6,575 3, 346 3,229 #29R
13 |RRINER FER=TH. ERmUTH. @HHFA_-TH. FE—-TH 9,773 4,836 4,937 #29X
(I~1) |, FEHQE—TH (2~6)
14 [HHEERtE S — ¥HE—-_TH 5,221 2,633 2,588 HFE29R
15 |iTduEEE+L 42— J¥eRN—-ZTH, #—TH., I&=-=TH 6, 863 3,398 3,465 HEIX
16 [Tt/ JIdtm - ZTH 4,426 2,059 2,367 HE29R
17 |m/INER /I:": TH. B=TH. 6, 621 3,214 3,407 HE2IX
18 |[FH/NFER —TH 5,545 2,726 2,819 29X
19 [AANER TRE E R TR ETE 760 3.860] 3705 gogm
AAZTE (1~28)
20 (EEHFARE BEH— - —“TH. ARAZTH (9~#%) . R=TH ( 7,092 3,504 3,588
~17) %20
21 |BEHHINER FEHHAED - ATH, BHHREA=TH 6, 992 3,443 3,549 HFEIX
AR EELESR BEHHARN—~ZTH, B=TH (18~#) 8,253 3,935 4,318 29X
23 |RIRNER BEHHKET— - ZTH 6,911 3,329 3,582 #H13R
24 [BEIR/NERR BE=TH 4,287 2,114 2,173 13K
25 |[EFBIKYIESE BE—-Z=TH 5,590 2,903 2,687 FEIIX
26 | BN ME—-ZTH. Ef—-ZTH 8,689 4,397 4,292 HE29R
21 [BEEZIER BH—-=-WmTH, #HETH (1~4) 5,911 3,033 2,878 #H13R
28 |FEARER BEAZTH., BEETH G6~#) . EAATH 8,283 4,073 4,210 #13R
29 [BENFER wBEE-/\TH. 885—TH 10, 257 4,965 5,292 13X
30 [EANEILtE E2—HLTE|EEZ-=TH 1,284 3,617 3,667 HEI3R
3 [RENFER FH—- h-ATH 8,179 4,038 4,141 #13X
32 [BRENER PRAE—TH (I~11) | HRAHTZ - =TH. 9,431 4,500 4,931 #13K
EImTE
33 |HEREPER RM=TH (~12, 14~19) | REM=TH. 9,602 4,857 4,745 #13K
- - -TH
34 | RILINER Bi—-Z-=TH 8,273 4,147 4,126 13X
35 [BhE/NFER mEEE—~mT H 7,504 3,731 3,773 #13R
3%_[BT—PER FH_TH. hE—TH. BB_TH (I~15) 6,962] 3,501 3,461 #3K
37 [EmFENFER ME—~=TH. &#NX-ETH. 11,012 5, 581 5,431 #13K
AP@TH (1~8)
38 |ERIEM PR BE=TH (7~#) | &#EE©-&TH. 10, 997 5,699 5,298 #13K
HiEE—TH
39 |HEHENER #H¥—-=—TH. ##=TH (1~16) 10, 355 5,125 5,230] 13X
40 [=B/hER BF—-ZTH. ®B&#_TH 8,294 4,210 4,084 13X
41 |REFMgFEE 2 — WM=TH (13-20) . "MW -ATH 8,623 4,311 4,312 13X
42 | RFIINERR fjil—-ZTH 4,699 2,301 2,398] 13X
43 [PliigtE 52— FI=~AETH 6, 452 3,269 3,183 13X
44 IR KAEH=~ATH 8, 064 4,216 3,848] 13X
45 |wHBAREAN LB FERR RABZTH. TR, #MBAE—-TH. 8,580 4,421 4,159
#WE=TH (1~6) . WP=TH (1~10) . B3R
#EE— - —TH
46 |TEM/NER MElE—~=TH 8, 386 4,296 4,090 13X
47 |TEMA PR fEl—-=TH. FElm - ATH 1,121 3,694 4,027 13X
48 |fTemtigFEE 2 — TEM=TH (1~32) . fEMEETH. 8,156 4,120 4,036 =13
METH (1~12) . EAMATH
49 [FLTHP2R RARE—~IETH 9,916 4,969 4,947 H13X
50 [MNFENFERR —YRZ~WETH., @AM¥—ZTH. 12,493 6,158 6, 335 =13
ABI—~MTH
RIREZEEERER
¢ REBMBEEF/NEZFRZRHORER




RBMX KREXHEZE AL ERRER

(SF7HEIA 1 BHE)

INEER X
BEX BEmA X iz B B £ (BAR)
51 |SRAFR ER—-_TH. BIR= -WTH 9,545 4, 735] 4810 ZBI3X
52 |RABINER AH—TH. MOB=TH 5,086 2. 412| 2.674] Z13x
53 | DOZ/NER AE--=TH. MOB— -—TH 9.817] 4.810] 5007 13K
50 |FLL/ERR BRAB—TH. MOBENE~ATH 7,331 3, 492| 3.839| Z13x
55 | B RAEINER BRAB_~WTH. MOBETH 8.3771| 4,0371] 4.340] Z13x
56 |%® T mEFER FE—TH (20~%) . FE=TH (1~6.8~19) . 5,560 2 692] 2,868
FEAET—TH. BFE=TH (1~3) . HI9X
FIDE—TE (. 1~#)  FEHOE-TH
57 |FERIFR FE—TH (18~19) . FE_TH (1~2.9~%) . 9,806 4 923| 4 883
FE=TH (7.20~%) . FELTH. -
BEETEH (1~4.6~17.20~%&) . FOR
FREE-TH (1~10,12~%) . BEA=TH.
58 |BHAE_NIFR ®HH= -WTH. GFE—TH. 11,236] 5,641 5505
FEE-TH (1) . FafFEHE, HI9X
BE_TH (3~8) . AHEF—TH
50 |BHAE— TR F"BHH—-H-~-LTE 9,253|  4,551| 4,702] BX
60 |BRABREI TR BEMTE. I~ -tTH. B=TH 6,940| 3,480| 3.451| 20X
61 |BEL=L=EE BE— - = -&TH 6,898 3,467] 3, 431| ®IX
62 |BEE—IFR RER_-=—TH. BEA~/\TH 8,823| 4,432 4301 ZBMX
63 |2 AR ZA—TH. BA-TH (1~10) . BA=TH (I~ 6,961 3.538] 3,423
3.
ZAETH (1~12) . SAR. &ALE. F29R
AB—TH. AAZTEH (1~6) . AAHE - ATH.A
BETH (2~8) . ABH
64 |BHIFR EH=TH. hE_TH (16~%) 5,432]  2.506] 2,836 ZBI3X
65 |BAE/NFR TEM=TH (33~%) . LA TH (13~%) . 6,033 3,004 3,029 giam
A ~/\TH =
66 |IIL/NERR EH— - —TH. ~A—-—TH 8.164] 4,192] 3.972] Z13X
67 |RFRINFR RFE— - —TH. RFE=TH (4~K) . 8,315 4 283| 4,032
RFENTE, BFELTH. F29X
BEETH (5.18~10)  (FEAR—TE
68 | FEHIFR EH—~=TH. RAHA. REFH. 0.848] 4,933 4015 g
—YE—TH =
69 |AATFR AB_—TH (I~%) . AA= -WmTH. AAETH 6,085 3,046] 3,039
(;& 9~#8) . AR\ - ATH. EAATH (1~3. 9 HI9X
"'n:)
70 |eLR&m FRAE—TH (12~%) . FRAHM - & TH 6,005] 2,921| 3. 124] B3R
I EREGET AAB—-—TH 5.572|  2,760] 2,812] Z13X
2 |&FAIER EFA_TH U~K) . BTAAE—~MmTH 6,395 3.229] 3,166 @R
3 |RABNFR AF=TH. AFETH (9~%) . AFATH. 5,936 2,965 2971 giax
EB—TH il
74 |FERINFER EfR—-—TH 5. 475|  2.693| 2,782 B3R
75 | AKRDNER AR= -WTH. ®A—TH (I~%) . 5,848 2,986] 2,867 giam
WH=TH (1~ -
76 |BRZEE _RE FHE=TH 6,965| 3.437| 3,578 ZBOX
7T |EAE—IFR ZA-TH (11~%) . BA=TH 4~ . 7,028 3.550] 3,478
2 AWMTH. 2AETE (13~#) . @AATE (4~ HIX
8)
& 575, 153| 286, 995| 283, 158
RURELERERS o ‘
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